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The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any five questions: 2x5=10
-] 265 2rsa Tew e ¢
a)  What is utility possibility frontier?
TolCe9] QI HNNE H 2

b)  Write down the condition for allocative

efficiency in perfect competition.

o efsriforom IBaeiTe wreR *el =14 |
c¢)  What is market failure?
ez el e

d)  Give one example each for positive externality

and negative externality in consumption.
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e) What is a contract curve in Edgeworth box
diagram?
aeraief A 5q contract (@l F?

f)  What is Pareto optimality condition in
production?
TAMC (6T ATICACE] FITSI *1S F 2

g) What are the monopoly elements in
monopolistic competition?
GRS Ao AT @R ST
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h)  What is natural monopoly?
IvTaE Wi e

2. Answer any two questions: 5x2=10
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a)

406/Eco.

Explain why for a monopolist the MC curve
can not intersect MR in the inelastic portion
of the demand curve.
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b)

d)

What will be the equilibrium condition for the
monopolist who produces his output in two
different plants?
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Write down the causes for market failure.
et LT TS @74

Show that price will be higher in the market
whose elasticity of demand is lower in price

discrimination.
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Show that existence of positive externality

causes market failure.
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3. Answer any one question: 10x1=10
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a)

406/Eco.

"The existence of perfect competition is
necessary but not sufficient conditon for the
attainment of a Pareto-optimality equilibrium."

—Explain.
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b)
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State and explain the Coase theorem.

'Coase Theorem' T (=14 @ 3147l Sl |
Show that profit under price discrimination
will generally be larger than that under single

price monopoly.
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